DNA and Protein Synthesis Test
***  Choose the best answer for the following questions.

1. After DNA replication, the two DNA molecules that are made 

A.  are opposite.
B.  are identical.
C.  can’t replicate again.
D. none of these.

2. Which scientists produced X-ray patterns that showed the fibers of DNA to be twisted?

A.  Hershey and Chase
B.  Watson and Crick
C. Rosiland Franklin  
D.  none of these.

3. In RNA, the code word AUG is a ___________  codon.

A.  anti


B.  start

C.  stop


D.  termination

4. The two strands of DNA helix are 

A.  purines


B.  pyrimidines
C.  nucleic acids

D.  complementary
5. A nucleotide does not consist of a 

A.  polymerase

B.  phosphate 

C.  sugar


D.  base

6. A molecule of tRNA does not 

A.   pick up amino acids


B.  contain an anticodon


C.  translate the “code” into a protein



D.  none of these.
7. The backbone of a chain of nucleotides consists of

A.  sugars and phosphates

B.  bases
C.  bases and sugars

D.  none of these

8. In messenger RNA, each codon specifies a particular 

A.  nucleotide

B.  purine

C.  amino acid


D.  pyrimidine.

9. Before a cell divides, it must duplicate its DNA in a process known as

A.  replication

B.  translation

C.  transcription

D.  none of these

10. Which does not carry out its function in the ribosome?

A.  mRNA


B.  tRNA 

C.   rRNA


D.  DNA
11. The genectic code of DNA depends  upon the order, or sequence of

A. bases  


  B. phosphate groups  C.   sugars 


 D. purines

12. If one strand of DNA has the nitrogenous base sequence ATCGT, the sequence of bases on the mRNA  strand is

A. ATCGT   

B. TAGCA  

 C. AUCGU   


D. UAGCA
13. The process by which the genetic code of  DNA is copied into a strand of RNA is

A. translation   

B. transcription  
C. transformation   

D. replication

14. Both DNA and RNA 

A. contains ribose   
B. are singled stranded  C. contain AGC  

 D. contain uracil

15.To which organelles does mRNA attach.

A. nucleus  

B. lysosome  


C. ribosome 

 D. chloroplast

16.The weak bonds between the nitrogen bases are _________ bonds.

A. bad  


B. hydrogen  


C. sulfur  

 D. phosphorous

17. A chain of amino acids is a(n)

A. sugar  


B. phosphate  


C. protein  

D. none of these

18. Three bases on the mRNA  are called a(n)

      A. codon  


B. anticodon   


 C. lysine  

 D. none of these

19. Each combination of three nitrogenous bases on transfer RNA forms a (an)

A. anticodon  

B. codon 


 C. enzyme 

 D. nucleic acid

20. Unlike DNA, RNA

      A. contains deoxyribose 

 B. is double stranded 

C. contains thymine   


D.  contains uracil 

TEST A  

21. A nucleotide does not contain 

A. a 5-carbon sugar   
B. pyruvic acid     
C. a nitrogenous base   D. a phosphate group

22. The synthesis of a new double strand of DNA begins when two strands of the original DNA helix

A. unzip  

B. act as a template  
C. attract nitrogenous  bases   D. destroy a genetic code

23. If one strand of DNA contains the nitrogenous bases AACTG, its complementary strand of DNA contains the bases

A. AACUG 

  B. UUGAC  
  C. TTGAC    
D. AACTG

24. The organelles in which proteins are produced are the 

A. nucleus  
B. ribosome  

 C. lysosome 

  D. none of these

Short Answer

19. Who were Watson and Crick? What made them famous?

Discovered the shape of DNA in a double helix
20.  Name the three differences between DNA and RNA.


a.
double stranded

b.  
Dexoyribose

c.  Thymine
21. Describe the difference between translation and transcription.

Transcription in nucleus… mRNA gets code from DNa
Translation in cytoplasm and ribosome…. Gets amino acids and puts them in a chain to form a protein
22. Label the following diagram of a DNA molecule.

                     a.  nitrogen bases  b.  hydrogen bonds  c. deoxyribose  d. sugar e. phosphate
